1516 17 18 19 20 21 24 2526 2728 29 30 31 32 3334 35 56

22
23
L)
i — e F
[
R:
7\ J
1 2 3 4 5 6 7 8 9 10 N 12 13 14
1 Fotengely Kor 911031111 18 Csapagyanya KM9 217100009
2 Szimmeringhaz 2. Alu 511031103 18 Biztositdlemez MB9 217200009
S Csapagyhdz Ov200 511021101 19 Mélyh. g.csapdgy 6209 200006209
4 Szivattyd konzol  0v200 911021110 20 Gumigyurl 974x3 280107430 F—041—-A—71*%=11
S Tomszelence fedél Kor 911031136 21 Szimmeringhdz 1. Alu 911031102 . ) _
6 Tomszelencehdz  Kor 511021131 22 Szimmering 952 /68x12 280000370 CS|gQSZ|VQtJ[yU
7 Zarocsavar Kor 5110311359 23 Aszokesavar M10x43 511031139 katrész| Al
8 Szivohenger Kor 531021043 24 Tomitdzsinor 10x10 285010011 AIKalreszjegyzexe
9 Osszekotocsavar 1.M10x579 511021150 25 Gumigyurl $45x2.5 280204525
10 Szivohenger fedél Kor 911021152 26 Fot.fej men.csavar M20x1.5x35 511031125
11 Szoritdanya Kor 511021158 27 Fotengelyfej Kor 931021012 L
12 Osszekdtécsavar 2.M10x225 511024160 28 Menesztbcsavar  M14x1.5 51106144 1222 Budapest Nagytétényi ot 96/A
13 Gumimetdl sztitor NR (1) 511024171 29 Csapszeq 912x52 51106142~ levélcim: 1775 Budapest, Pf.: 111.
13 Gumimetdl sztdtor NBR  (3) 511024173 30 Bilenttengely  926x190 531021025 Et‘t”?o'L h'drho.d@h":{om
13 Gumimetdl sztgtor FKM  (4) 511024174 31 Gumiharang NBR (olajdlls) 180103702 p://www.hidro.hu
13 Gumimetdl sztator NBR vil.(5) 511024175 32 Menesztogylru $54x30 Bzo12 51106156 kdzpont 424-6040
13 Gumimetdl sztator EPDM (6) 511024176 33 Billenobetét $18x30 511021122 alkatrészeladds 424—6054
15 Gumimetal sztétor CR (7) 511024177 34 Teflonzsinor 4x4 285004011 &rtékesités 424—-6057
14 Nyomdcsonk Kor 951022086 35 Csigadugattyd kor 25106002 424-6058
15 Szimmering $35/50x10 280000205 35 Csigadugattyd hokezelt 91106325 Fax 227-0897
16 Seegergyurl kiilso #35a 217700035 35 Csigadugattyd k.krom 53106003 Q
17 Mélyh. g.csapagy 6207 200006207 36 Sztatortomités $86/66 282508610 M@@[}[]B?QU[%U%%

2011.10.12.




